Option 1 - Relocate one (1) disabled parking space from the southern end of the car park to the northern end, adjacent to the loading zone. This
will result in the loss of one (1) standard parking space. The final arrangement will include two disabled parking spaces (with shared areas) and

five (5) standard parking spaces.
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Option 2 — Relocate the two (2) disabled parking spaces from the southern end of the car park to the northern end, adjacent to the loading zone.
The same number of standard parking spaces will remain. The final arrangement will include two (2) disabled parking spaces (with shared areas)
and six (6) standard parking spaces.
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Option 3 — Do not relocate the disabled parking spaces and keep the existing parking arrangement.
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